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om |4BHER 227,760] (234,980)] 178,850] (186, 070)|+[ 2, 250] (2.320)] x &= [ 1,760] (1,830)] x &= (7,220 (70x pnEx)
3 & R 234,980] (293,380)| 186,070] (244,470)|+| 2.320] (2,820)] xm&= | 1,830] (2,330)] xmEx 7,220 70 X hp B
10A gz |1 2BE 293,380| (365, 650)| 244,470] (316,740)|+| 2,820] (3,550)| xmE= [ 2 330] (3 060)| x mE=
A R I3 365, 650 316, 740 +[ 3550 &= [ 3 060 X MEE
A e [ABULR 123,570] (130,790)| 99, 110 (106, 330)| +[ 1,210] (1,280)] x = 960] (1,030)] x g = (7,220 (70x pnEx)
" 3 & R 130,790 (189,190)| 106, 330| (164, 730)|+| 1.280] (1,780)| xma= | 1, 030] (1,530)| xmEg=x 7,220 70 X hp B
20 A gz |1 2BRE 189,190| (261, 460)| 164,730 (237,000)|+| 1.780] (2.510)] xm&= | 1,530] (2, 260)| xmEg=x
A R I3 261, 460 237, 000 +[ 2510 xmeE®= [ 2 260 X MEE
21 A s [ABULER 88,730] (95,950) 72, 420] (79, 640)| + 860]  (930)] x = 690]  (760)] x = (7,220 (70x pnEx)
" 3 & R 95,950| (154, 350)| 79,640 (138 040)|+ 930] (1,430)| xmE=x 760| (1,260)| x = 7,220 70 X hp B
30A gz |1 2BR 154,350 (226,620)| 138,040 (210,310)|+| 1.430] (2, 160)| xm&= | 1, 260] (1,990)| xmEg=x
A R I3 226, 620 210, 310 +[ 2160 xg®= [ 1,990 X B
31A e [ABULR 71,510]  (78,730)[ 59,280] (66, 500)| + 690]  (760)] x M= 560]  (630)] xfmE=® (7,220 (70x pnEx)
" 3 & R 78,730] (137,130)| 66,500] (124, 900)|+ 760| (1,260)| x = 630 (1,130)| x = 7,220 70 X hp B
40N ss |12 2R 137,130] (209, 400)| 124,900 (197,170)|+| 1.260] (1,990)| x = | 1,130] (1,860)| xmE=x
A R I3 209, 400 197,170 +[ 1,990 xmeE®= [ 1,860 X MEE
4A e [ABULR 66, 430] (73,650)| 56, 650] (63,870)|+ 630] (700)] xmE= 540]  (610)] x = (7,220 (70x pnEx)
" 3 & R 73,650] (132,050)| 63,870 (122,270)| + 700| (1,200)| x mE= 610/ (1,110)| xmE=x 7,220 70 X hp B
50 A g [1. 2R 132,050| (204,320)| 122,270] (194,540)[+[ 1,200] (1,930)| xm&s [ 1,110] (1,840)| x &=
ET | 07 [g = 204, 320 194, 540 +[ 1,930 xpm&#x | 1,840 X pnE &
51 A e [ABULR 58,090 (65 310)[ 49, 940] (57, 160)| + 550]  (620)| x pn&is 470 (540)| x pnE& (7,220)] (70X pnE )
i 3 ® R 65 310 (123,710)[ 57,160] (115,560) |+ 620 (1,120)| x pn&=x 540 (1,040)| x &= 7, 220 70X piE
60N gz |1, 2ER 123,710 (195,980)| 115,560| (187,830)[+| 1,120| (1,850)| x pn&xs 1,040| (1,770)| x &=
ET | 07 [g = 195, 980 187, 830 +| 1,850 xm&#x | 1,770 X fnE &
61 A e [ABULR 52,210] (59, 430)[ 45,220 (52, 440)| + 490]  (560)| x pnE 420 (490)| x pngs (7,220)| (70 pnE )
mis 3 ® R 59,430| (117,830) 52, 440] (110, 840) | + 560| (1,060)| x & 490]  (990) | X pgs 7, 220 70X piE
70N gz |1, 2ER 117,830| (190,100)| 110,840 (183, 110)[+| 1,060| (1,790)| x pn&xs= 990| (1,720)| x &=
ET | 07 [g = 190, 100 183,110 +[ 1,79 xm&#x | 1,720 X fnE &
1A e [ABULR 47,850 (85,070) 41,740] (48, 960)| + 450]  (520)| x pnEs 390]  (460)| x pnE (7,220)] (70 hnE )
mis 3 ® R 55,070 (113,470)[ 48, 960| (107, 360) |+ 520 (1,020)| x pn&Esx 460]  (960)| x pngis 7, 220 70X piE
80N gz |1, 2ER 113,470| (185,740)| 107,360| (179,630)[+| 1,020| (1,750)| x pn&gs 960| (1,690)| x & &
ET | 07 [g = 185, 740 179, 630 +[ 1,750 & | 1,690 X fnE &
81 A e [ABULR 44,420 (51,640)[ 38,980] (46, 200)| + 410 (480)| x g 360]  (430)| x pnE (7,220)] (70 pnE )
mis 3 ® R 51,640 (110,040)[ 46,200] (104, 600) |+ 480]  (980)| x pn&is 430]  (930)| x pngs 7, 220 70X piE
QA g [1. 2R 110,040 (182, 310)| 104, 600| (176,870) |+ 980| (1,710)| x pn&is 930| (1,660)| xpEx
100 FT 7 [m w| | 182,310 176, 870 +[ 1710 xmE®E | 1,660 X EE
w0 o |4BELER 38,510] (45,730) 33,620] (40, 840)| + 360]  (430)| x pnE 310 (380)| x pngs (7,220)| (70X pnE =)
» |73 &m ® 45,730] (104,130)| 40,840 (99, 240)| + 430 (930)| x pnE= 380 (880)| xpnEE 7, 220 70X piEE
100.A aa |12 28R 104,130] (176, 400)| 99, 240 (171,510)| + 930| (1,660)| xmExE 880| (1,610)| x &=
ET | 07 [g [ 176, 400 171,510 +[ 1,660 xm&#x | 1,610 X pnE k&
1018 | o [4BEER 36,590 (43,810)[ 32, 140] (39, 360)| + 340)  (410)| xpE= 200]  (360)| x pnE= (7,220)| (70X pnE =)
i 3 ® R 43,810] (102, 210)| 39,360 (97, 760)| + 410 (910)| xpnE= 360]  (860)| X pnEE 7, 220 70X piE
110A aa |12 28R 102,210 (174,480)| 97,760| (170, 030) | + 910 (1,640)| x &= 860 (1,590)| x p&x
ET | 07 [g [ 174, 480 170, 030 +[ 1,640 xpg&# | 1,590 X pnE k&
A | o [4BHER 34,950 (42,170)[ 30,870] (38,090)| + 320 (390)| x pnE& 280]  (350)| x pnEE (7,220)| (70X pn =)
i 3 ® R 42,170] (100,570)| 38,090 (96, 490) | + 390]  (890) | X pnEE 350]  (850)| X pnEE 7, 220 70X piEE
120 aa |12 28R 100,570 (172,840)| 96, 490| (168, 760) | + 890| (1,620)| x p&=x 850 (1,580)| x pn&=
ET | 07 [g [ 172, 840 168, 760 +[ 1,62 xpg&# | 1,580 X pnE k&
1218 | o [4BHER 33,560 (40, 780) 29,800 (37,020)+ 310 (380)| x pnE= 270]  (340)| x B = (7,220)| (70X pn =)
i 3 & R 40,780] (99,180)| 37,020 (95, 420)| + 380 (880)| xpnEE 340)  (840)| x B = 7, 220 70X piEE
130N e |12 2BR 99,180| (171,450)[ 95, 420] (167, 690) |+ 880 (1,610)| x&Ex 840| (1,570)| x pn&=
ET | 07 [g [ 171, 450 167, 690 +[ 1,610 xm&#x | 1,570 X pnE k&
131N | o [4BHER 32,400 (39,620) 28,910] (36, 130)| + 290]  (360)| x &= 260]  (330)| xpnEE (7,220)| (70X pnE =)
i 3 & R 39,620] (98,0200 36,130] (94, 530)| + 360]  (860)| xpnEE 330  (830)| xpnE=E 7, 220 70X piEE
140 e |12 2BR 98,020 (170,290)[ 94,530| (166, 800) |+ 860 (1,590)| x p&x 830 (1,560)| x &=
ET | 07 [g [ 170, 290 166, 800 +[ 1,590 xpg&#x | 1,560 X pnE k&
11X | o [4BHER 31,380] (38,600) 28 120] (35, 340)|+ 280]  (350)| x pnEE 250]  (320)| x pnEE (7,220)| (70X pn =)
i 3 ® R 38,600] (97,000 35 340 (93 740)| + 350] (850)| X pnEE 320 (820)| xpnEE 7, 220 70X piEE
150 A e |12 2BR 97,000 (169, 270)| 93, 740| (166, 010) |+ 850 (1,580)| x pEx 820 (1,550)| X pn&=
ET | 97 g ] 169, 270 166, 010 +| 1,580 xR | 1,650 X K
1518 | o [4BHER 31,340] (38,560) 28,290 (35,510)|+ 280]  (350)| x pnEE 250]  (320)| x pnEE (7,220)| (70X pn# =)
i 3 ® R 38,560| (96,960) 35 510] (93 910)|+ 350] (850)| X pnEE 320 (820)| x pnEE 7, 220 70X piEE
160.A e |12 2BR 96,960| (169, 230)| 93, 910] (166, 180) | + 850 (1,580)| x p&x 820 (1,550)| X pn&=
ET | 97 g ] 169, 230 166, 180 +| 1,580 xR | 1,550 X K
1618 | o |[4BHER 30,520] (37,740)[ 27.640] (34, 860) |+ 280]  (350)| x pnEE 250]  (320)| x pnEE (7,220)| (70X pn# =)
i 3 ® R 37,740] (96,140)| 34,860 (93, 260)| + 350] (850)| X pnEE 320 (820)| x pnEE 7, 220 70X piEE
170X g |12 28R 96, 140| (168, 410)| 93,260| (165, 530)| + 850 (1,580)| x pex 820 (1,550)| X pn&=
ET | 97 g ] 168, 410 165, 530 +| 1,580 xR | 1,550 X R
05 |ABUER 29,770]  (36,990)[ 27.050] (34, 270)| + 270]  (340)| x &= 240]  (310)| xfnEx (7,220)| (70X pn# =)
171N 3 ® R 36,990 (95,390) 34,270] (92, 670) |+ 340)  (840)| x pnEE 310]  (810)| x &= 7, 220 70X piEE
Uk s |1 28E 95,390| (167,660)| 92,670| (164, 940) |+ 840| (1,570)| x pEx 810 (1,540)| X pn&=
7 = 167, 660 164, 940 +[ 1,570 x g | 1,540 X g
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Py 4mULER Atz | 13,800( 15, 200f 9, 700 9, 700 attbig | 31,600] 35 200 22,100| 22, 100 4 500
3 ® R Bz | 13,200| 14,5001 9,200| 9, 200 b #big | 17,400| 19, 400( 12, 200| 12, 200 )
10N g 1. 2@ Citbigh | 12,500( 13,700 8,700 8,700 c g | 15,200| 16,900 10, 600| 10, 600
T - # " Dbz | 11,800 13,000] 8 200| 8 200 d#big | 13,600] 15 100f 9,500 9, 500
1A Py 4mULER Althig | 6,900( 7,600( 4,800 4, 800 attbig | 15,800( 17,600 11,000| 11, 000 4 500
mo 3 ® R Bithiz | 6,600| 7,200| 4, 600| 4,600 bihig | 8 700| 9 700[ 6 100| 6 100 )
20N g 1. 2@ Cihigi | 6,200( 6,800 4,300 4, 300 cihig | 7,600] 8 400[ 5 300{ 5, 300
T - # " Dithiz | 5 900] 6,500] 4, 100] 4,100 dihigi | 6,800] 7 500{ 4 700/ 4, 700
21 A Py 4mULER Althig | 4,800 5,300[ 3,300 3 300 attbig | 10,900| 12,200 7,600 7,600 4 500
mi 3 ® R Bithiz | 4, 600| 5 000 3, 200| 3,200 bihig | 6 000] 6 700( 4,200 4, 200 B e yES )
30A g 1. 2@ Cihigi | 4,500( 4,900( 3,100 3 100 cihig | 5 200] 5 800[ 3,600/ 3 600 &g;uﬁﬁﬁﬁ
T - # " Dithiz | 4, 200] 4,700] 3,000/ 3, 000 dihigi | 4 700] 5 200{ 3,300/ 3 300
31A Py 4mULER Althig | 4,200( 4,600[ 2 900 2 900 atthig | 9,800 10,900 6,800 6,800 ~ 16K 4 500
mi 3 ® R Bithiz | 3,900| 4,300 2 700| 2 700 bi#hig | 5 400| 6 000{ 3 700| 3, 700 27, 330 )
40N g 1. 2®R Cihigi | 3,800 4,100[ 2 600 2 600 cihig | 4, 700| 5 200[ 3,300 3 300
T - B2 " Dihig | 3,600] 4, 000] 2 500] 2 500 dibig | 4,200] 4 ,600{ 2 900 2 900 16A~ 26N
A Py 4mULER Althig | 3,800 4,200[ 2 600 2 600 aihig | 8 800| 9 800[ 6 100] 6 100 16, 800 4 500
mo 3 ® R Bithiz | 3,600| 4,000 2 500| 2 500 b iz | 4,800| b5 400( 3,400 3, 400 )
50A 3 1. 28R Cibigf | 3,400 3,800 2 400 2 400 cHbig | 4,200] 4,700( 2,900/ 2 900 26 A~ 3BA
T ~ B " Diig | 3,300 3,600 2 300] 2 300 dibig | 3,800] 4, 200[ 2 600 2 600 12,280
51 A 08 4mULER At | 3,200 3,500( 2 200 2 200 attig | 7,200{ 8,100[ 5,100/ 5, 100 4500
s 3 % R Biig | 3,000] 3,300 2 100| 2 100 b #big | 4,000 4,400 2 800/ 2 800 36 A~ 45N )
60A 3 1. 28R Cibigf | 2,800 3,100[ 2 000 2 000 cHbig | 3,500[ 3,800( 2 400 2, 400 9,770
T ~ B " Dieig | 2,700 3,000 1,900] 1,900 ditbdg | 3,100] 3 ,400[ 2 100| 2 100
61N 08 4mULER At | 2,700 3,000( 1,900 1,900 atthig | 6,300] 7,100 4,400 4,400 46N~ 60N 4500
nis 3 ® R Bl | 2, 600] 2 800] 1,800| 1,800 b #big | 3,500 3,900( 2 400 2,400 7,500 )
AN 3 1. 28R Cibigf | 2 400 2 700f 1,700 1,700 cHbig | 3,000{ 3, 400( 2,100/ 2 100
T ~ B " Diiig | 2,300 2 6001 1,600/ 1,600 ditbdg | 2 ,700] 3,000{ 1,900 1,900 61 A~ 75N
VADN 08 4mULER At | 3,100 3,400f 2,100 2 100 attig | 7,100{ 7,900 4,900 4,900 6,130 4500
s 3 ® R Bz | 3,000] 3,300 2 100| 2 100 b #big | 3,900 4,300( 2 700/ 2, 700 )
80A 3 1. 28R Cibigf | 2,800 3,100f 1,900 1,900 cHbig | 3,400 3,800( 2 300/ 2 300 76 A~ 90N
T ~ L R Dihig | 2,700 2,900] 1,800| 1,800 dibdg | 3,000] 3 400[ 2 100| 2 100 5,220
81 A 08 4mULER At | 2,700 3,000( 1,900 1,900 atthig | 6,300] 7,100 4,400 4,400 4500
nis 3 % R B | 2,600 2 900 1,800| 1,800 b #big | 3,500 3,900 2 400 2,400 91 A~ 106N )
90A 32 1. 28R Cibigf | 2,500 2 700f 1,700 1,700 cHbig | 3,000{ 3,400( 2,100/ 2 100 4, 660
10/100 T ~ B R Dihig | 2,400 2 600 1,600/ 1,600 ditbdg | 2 ,700] 3,000{ 1,900 1,900 n
ok 91 A 08 4mULER At | 2,500 2 700f 1,700 1,700 atthig | 5,500{ 6, 200( 3,900/ 3,900 106 A~ 120N 4500
ni 3 % R Bl | 2,400| 2 6001 1,600/ 1,600 b #big | 3,000{ 3,400( 2, 100| 2 100 4,250 )
100N 3s 1. 28R Cibigf | 2 200 2 400 1,500 1,500 cHbig | 2,600] 2 900( 1,800 1,800
T ~ B R Diig | 2,100 2 ,300] 1,500| 1,500 dibig | 2, 400] 2 600[ 1,600 1,600 121 A~ 135N
101 A 28 4mULER At | 2,700 3,000( 1,900 1,900 attig | 6,100] 6, 800 4,200 4,200 3,920 4500
ni 3 ® R B | 2,600 2 800] 1,800/ 1,800 b #big | 3,300] 3,700( 2 300/ 2 300 )
110A 3s 1. 28R Cibigf | 2 400 2, 700f 1,700 1,700 cHbig | 2,900] 3,200( 2 000 2 000 136 A~ 160N
T ~ B R Diig | 2,300 2 6001 1,600/ 1,600 dibig | 2,600] 2 900[ 1,800 1,800 3, 660
111A 28 4mULER At | 2,500 2, 700f 1,700 1,700 atthig | 5, 500] 6, 200( 3,900/ 3,900 4500
ni 3 ® R Bl | 2,400| 2 6001 1,600| 1,600 b #big | 3,000{ 3,400( 2,100/ 2 100 161 A~ 180N )
120 A 3s 1. 28R Cibigf | 2,200 2 400 1,500 1,500 cHbig | 2,600] 2 900( 1,800 1,800 3,160
T ~ L R Dieig | 2,100 2,300] 1,500] 1,500 dibig | 2, 400] 2 600[ 1,600 1,600
121 A 28 4mULER At | 2,300 2 500( 1,600 1,600 attig | 5,100] 5, 700( 3,500 3,500 181 A~ 210N 4500
ni 3 % R B | 2,200] 2 400] 1,500| 1,500 b #big | 2,800{ 3,100( 1,900 1,900 2,810 )
130N 3s 1. 28R Cibigf | 2 000[ 2 200 1,400 1,400 cHbig | 2, 400{ 2, 700( 1,700 1,700
T ~ B R Diiig | 2,000 2 200] 1,400| 1,400 dibdg | 2,200] 2 400{ 1,500 1,500 211 A~ 240N
131 A 28 4mULER At | 2 4001 2,700 1,700 1,700 atthig | 5 500] 6, 200( 3,900/ 3,900 2, 540 4500
ni 3 % R B | 2,300 2 6001 1,600| 1,600 b #big | 3,000{ 3,400( 2,100/ 2 100 )
140N 3s 1. 28R Cibigf | 2 200 2 400 1,500 1,500 cHbig | 2,600] 2 900( 1,800 1,800 280 N~ 270N
T ~ B R Diig | 2,100 2,300] 1,500] 1,500 dibig | 2, 400] 2 600[ 1,600 1,600 2, 440
141 A 28 4BULER At | 2,300 2 500( 1,600 1,600 atthig | 5, 400 6, 000( 3,700/ 3,700 4 500
N 3 % R B | 2,200] 2 400] 1,500/ 1,500 b b | 2,900] 3,300( 2 000/ 2 000 271 A~ 300 A )
150 A 3s 1. 28R Cibif | 2,100 2,300 1,400 1,400 cHbig | 2,500] 2 800( 1,800 1,800 2, 360
T - L R Diiig | 2,000 2 200] 1,400| 1,400 dibig | 2 3000 2 500{ 1,600/ 1,600
151 A 28 4BRULER At | 2,100 2 400 1,500 1,500 atthig | 4,800 b5, 400 3,400 3,400 301 A~ 4500
N 3 % R B | 2,000 2 300] 1,400| 1,400 b b | 2,600{ 2 900( 1,800 1,800 2,150 )
160.A 3s 1. 28R Cibif | 1,900 2,100 1,300 1,300 cHbig | 2,300] 2 500( 1,600 1,600
T - L R D3 | 1,800] 2,000 1,300] 1,300 dibig | 20000 2 300[ 1,400 1,400
161 A 28 4BULER At | 2,300 2 500( 1,600 1,600 atthig | 5, 400| 6, 000( 3,700/ 3,700 X3/ D EMIZ 4500
N 3 % R B | 2,200] 2 400] 1,500/ 1,500 b #big | 2,900 3,300( 2 000 2 000 s !
170N 3s 1. 28R Cibif | 2,100 2,300 1,400 1,400 cHbig | 2,500] 2 800( 1,800 1,800
T - L R D | 1,900 2 ,100] 1,300| 1,300 dibig | 23000 2 500[ 1,600/ 1,600
28 4BULER At | 2,200 2 400 1,500 1,500 atthig | 4,800 b5, 400 3,400 3,400 4 500
1A 3 % R B | 2, 100| 2,300] 1,400| 1,400 b b | 2,600] 2 900( 1,800 1,800 )
HE 32 1. 28R Cibif | 1,900 2,100 1,300 1,300 cHbig | 2,300] 2 500( 1,600 1,600
B R Diiig | 1,800] 2,000 1,300] 1,300 dibig | 20000 2 300[ 1,400 1,400
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